Leopard - 70 facts - 3 minutes

Multiply by 32x100=3200 490 x 100 = 49000  0.65 x 100 = 65 35x 1000 = 35000 683 x 1000 = 683000 37 x 1000 = 37000
10, 100 &
1000 4.5 x 100 = 450 3x1000=3000  2.5x1000=2500  2.74 x 1000 = 2740 0.36 x 100 = 36 73.5 x 100 = 7350
1
Divide by 10, 32+ 100 = 0.32 490 + 100 =4.9  0.65+ 100 = 0.0065 35+ 1000 = 0.035 683 = 1000 = 0.683 27 + 1000 = 0.027
100&1000 [ 45.100=0045 3=1000=0003 25+ 1000=0.0025 2.74 = 1000 = 0.00274 0.36 + 100 = 0.0036 73.5 = 100 = 0.735
Derived facts 1x20 =20 20x2 =40 2 x 300 = 600 20 x 40 = 800 5000 x 2 = 10000 6x20=120
forx 2 20x7 =140 800 x 2 = 1600 200 x 9 = 1800 2 x 1000 = 2000 20x 11 =220 120 x 20 = 2400
| Derived facts 10x 4 = 40 2x40 =80 30 x 40 = 1200 400 x 4 = 1600 50 x 4 = 200 6 x 40 = 240
for x 4 70 x 40 = 2800 80 x 4 = 320 9 x 400 = 3600 100 x 40 = 4000 110 x 40 = 4400 1200 x 4 = 4800
Derived facts 1 x 800 = 800 20x8 =160 3x 80 =240 40 x 80 = 3200 500 x 8 = 4000 60 x 80 = 4800
forx 8 7 x 80 = 560 800 x 8 = 6400 90 x 8 = 720 100 x 80 = 8000 110 x 8 = 880 120 x 80 = 9600
Derived facts 1 x50 = 50 20 x 50 = 1000 5x30 =150 50 x 40 = 2000 5x 50 = 250 60 x 5 = 300
forx 5 50 x 70 = 3500 80 x 5 = 400 50 x 90 = 4500 10 x 50 = 500 50 x 11 = 550 120 x 5 = 600
3
Derived facts | 100 x 10 = 1000 20 x 100 = 2000 100 x 3 = 300 100 x 40 = 4000 50 x 100 = 5000 60 x 100 = 6000
forx 10 100 x 7 = 700 80 x 100 = 8000 10 x 900 = 9000 100 x 100 = 10000  100x 110 = 11000 120 x 100 = 12000
Derived facts 100 x 3 = 300 2x30 =60 30 x 30 = 900 4x30=120 50x3 =150 60 x 30 = 1800
for x 3 70 x 30 = 2100 8 x 300 = 2400 9x30 =270 100 x 30 = 3000 11 x 300 = 3300 120 x 30 = 3600
4| Derived facts 10 x 60 = 600 2 x 600 = 1200 60x3 =180 60 x 4 = 240 5 x 60 = 300 6 x 60 = 360
forx 6 6x70 =420 80 x 6 = 480 60 x 90 = 5400 100 x 60 = 6000 6x 110 = 660 120x 5 =720
Derived facts 1x120 =120 20 x 120 = 2400 30 x 120 = 3600 4 x 120 = 480 50 x 12 = 600 6x120 =720
forx12 70 x 12 = 840 8 x 120 = 960 90 x 12 = 1080 10 x 120 = 1200 110 x 12 = 1320 120 x 12 = 1440
Derived facts 10x 9 =90 2x90 =180 30 x 90 = 2700 4 x 90 = 360 50 x 9 = 450 600 x 9 = 5400
for x 9 7 x 900 = 6300 800 x 9 = 7200 90 x 90 = 8100 1000 x 9 = 9000 110 x 90 = 9900 12 x 90 = 1080
Derived facts 1x110=110 20 x 110 = 2200 1100 x 3 = 3300 11 x 400 = 4400 5x 110 = 550 60 x 11 = 660
forx 11 11x70 =770 80 x 11 = 880 110 x 900 = 99000 1000 x 110 = 110000  110x 11 = 1210 12 x 110 = 1320
Derived facts 1 x 700 = 700 2x70=140 7 x 300 = 2100 700 x 4 = 2800 5x 70 = 350 70 x 6 = 420
forx7 7 x 700 = 4900 800 x 7 = 5600 7 x 900 = 6300 10 x 70 = 700 70 x 110 = 7700 120 x 50 = 8400
Equivalent 0.1=1/10 2/10=10.2 7/10 = 0.7 2/4 =05 % =0.75 0.45 = 45/100
fraction &
dedimele 0.01 = 1/100 1.2 = 120/100 % =0.25 3.7 = 370/100 0.5=1/2
1kg = 1000g 11'=1000ml Tkm = 1000m 1m = 100cm Tecm = 10mm 6 kg = 6000g
Measurement 34 m = 3400cm 28 cm = 280 mm 3.4 1 = 3400ml 5.2 km = 5200m 0.63 km = 630m 2.8 m = 280cm
facts 0.4 kg = 400g 0.18 cm = 1.8mm 0.07m =7cm 1.7 cm = 17mm 0.032 kg = 32g 0.5 m = 50cm
0.3cm =3mm 0.007 | = 7ml 0.02 km = 20m

These are the facts that your child needs to learn to be able to complete the 6 Leopard daily Maths speed
challenges. They need to develop rapid recall to be able to answer 70 questions in 3 minutes. Children can
practise the questions at home via the school website and in games with you at home. Once they have
completed this level they will receive a certificate to bring home.




